REGR (ZaEk (EEHIKR) )

| THETAT 4 | e BA T |
| #EERZ | 19:46 |
EA
EE) 5 = B
BELAFEEHR 3,714 A 4,144 A\ 7,858 A
REER 1,895 A 2,056 A 3,951 A
MR LEREEH 1,248 A 1,216 A 2,464 X
HBEAREEH 628 A 829 A 1,457 A
FHEEREER 19 A 11 A 30 A
ZIEER 1,819 A 2,088 A 3,907 A
RER 51.02 % 49.61 % 50. 28 %
E=5
EE) 5 = B
BELEHEEHR 7PN 7PN 14 A
REER 0 A 0 A 0 A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN 0 A 0 A 0 A
EEEREEHN 0 A 0 A 0 A
ZIEER 7PN 7PN 14 A
RER 0.00 % 0.00 % 0.00 %
B+ &5
E) E & 5
BELOHEEHR 3,721 A 4,151 A 7.872 A
REERK 1,895 A 2,056 A 3,951 A
ZIEEHN 1,826 A 2,095 A 3,921 A
RER 50.93 % 49.53 9% 50.19 %




